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Latin Unseen Translation

Time allowed: 1 hour

Translate both passages into English

1. Latin Verse

Please write your Latin Verse translation on the facing sheet.

The speaker describes his slavery, in the name of love, under a harsh mistress.

hic mihi servitium video dominamque paratam:
iam mihi, libertas illa paterna, vale.
servitium sed triste datur, teneorque catenis,
et numquam misero vincla remittit Amor,
et seu quid merui seu nil peccavimus, urit.
uror, io, remove, saeva puella, faces.
0 ego ne possim tales sentire dolores,
quam mallem in gelidis montibus esse lapis,
stare vel insanis cautes obnoxia ventis,
naufraga quam vasti tunderet unda maris!
nunc et amara dies et noctis amarior umbra est:
omnia nam tristi tempora felle madent.
nec prosunt elegi nec carminis auctor Apollo:

illa cava pretium flagitat usque manu.

cautes,is,f. - cliff, rock
obnoxius,a,um - exposed to

fel, fellis,n. - bitterness

Tibullus 2.4.1 ff



Lati n Ve rse Oxford college of preference

Answer sheet
UCAS Personal ID Surname & first name(s) Date of birth

Please continue on the reverse of this page if necessary.
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Please continue to Latin Prose passage.



This page is intentionally left blank for your rough working or notes.



2. Latin Prose

Please write your Latin Prose translation on the facing sheet.

Different from Scipio Africanus, Cicero is labouring under his involuntary loneliness and inactivity:

and he tries to apply lessons learnt from philosophy to help him — though again differently from

Africanus...
sed nec hoc otium cum Africani otio nec haec solitudo cum illa comparanda est. ille enim
requiescens a rei publicae pulcherrimis muneribus otium sibi sumebat aliquando, nostrum autem
otium negotii inopia, non requiescendi studio constitutum est. exstincto enim senatu deletisque
iudiciis quid est quod dignum nobis aut in curia aut in foro agere possimus? ita, qui in maxima
celebritate atque in oculis civium quondam vixerimus, nunc fugientes conspectum abdimus nos,
quantum licet, et saepe soli sumus. sed quia sic ab hominibus doctis accepimus, non solum ex malis
eligere minima oportere, sed etiam excerpere ex his ipsis, si quid inesset boni, propterea et otio
fruor, nec eam solitudinem languere patior, quam mihi affert necessitas, non voluntas. tamen
Africanus maiorem laudem meo iudicio assequebatur. nulla enim eius ingenii monumenta mandata
litteris, nullum opus otii, nullum solitudinis munus exstat; ex quo intellegi debet illum nec otiosum

nec solum umquam fuisse.

Cicero, de officiis 3.2ff (adapted)

languere - to be inactive



Lati n Prose Oxford college of preference

Answer sheet
UCAS Personal ID Surname & first name(s) Date of birth

Please continue on the reverse of this page if necessary.
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End of Latin Unseen Translation paper
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Greek Unseen Translation

Time allowed: 1 hour

Translate both passages into English

1. Greek Verse

Please write your Greek Verse translation on the facing sheet.

Paris - Alexandros - is seen by Athena and Diomedes during their night raid; they suspect him of
being about to tell Hector of the spying raid; Athena decides to deal with Paris by disguising herself.
AOva Koi pnv kad’ Muag tove” AAEEavdpov PAET®
otelyovta, QLAAK®V EK TIVOG TETVOUEVOV
d0&ag donpovg morepiov HepPAOKOT®V.
Avopiong motepa oLV GAAOLG T LOVOG TOPEVETAL;
AOva uovog: mpog evvag 8, g Eotkev, "Extopog
YOPET, KATOTTAS GNUOVDV TIKEWV GTPATOD.
Aopndng ovk odv Dapyety TOVSE KatdavovTo ypN;
AOva 0VK (v dVVaL0 TOD TEMPOUEVOV TAEOV.
ToVTOV 0& TPOG GG ¥EPOG 0V OIS Bavelv.
GAN” dmep TiKeIg Hopoipovg eépmv cpaydc,
Thyvv’ - €yd O¢, T®de cvpoyog Kompig
d0K0DG ™ AP®YOS €V TOVOLS TOPUCTATELY,
c00poig Aoyotstv €xOpov dvop’ dueiyopat.
Kol TodT’ &yo pév eimov- dv 8¢ ypr| madely,

oDk 01dev 008" HKovsev &yydg dv Adyov.

Euripides, Rhesus 627 ff

donuog, ov - unclear

pepprokotmy - perfect participle active of PAdok® - to come, go
Kotomne,0v,m. - explorer, scout, spy

Tayvv’ = thyvve TOYOVO - to hurry

apwyodc,0v - aiding, helping

c00pdc,d,6v - unsound

10



G ree k Ve rse Oxford college of preference

Answer sheet
UCAS Personal ID Surname & first name(s) Date of birth

Please continue on the reverse of this page if necessary.
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Please continue to Greek Prose passage.
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2. Greek Prose

Please write your Greek Prose translation on the facing sheet.

The speaker asks for a fair trial — especially as he sees himself facing the same charge for the fifth time
after four acquittals: he reminds the court that this kind of “multiple jeopardy” is illegal.

14

déopa O VUMV (O0VG %Al ®OWVOVGS MUV €motdtog TOV AOywv yevéoOal, xol t@ O€hovT
Méyewv nal drotewy edpevelg elval obTw Yoo duewvov Bovlehoeole mepl V. &l uev Yoo
duortog MV &yd, eindTwg Av TOV %aTNyoQoiviwv Txeodole xal £uol dvayxoiov MV
amoloyeloBal megl ToUTmY: €meldn 08 TeTEdnLg AywVILOUEVOS ATEPUYOV, OUXRETL SlnaLoV
Nyodpor Adyov ovdéva mepl TovTov YiyveoOar dewvov yap voultm tovg pev ahdvrog ud
PYNPw povov amodviionrely, nal T xonuato avtd®v dnueveobal, Tovg ¢ virnoavtag ey
TAG aTOC %aTnyoplag VTOpEvely, %ol TOVg SrooTdg elvar ugv xvplovg dmoléoal,
paiveoOar O andQOUs ®ai Gtehels OPOML, XRATEQ XAl TOV VOUMV ATAYOQEVOVTMV L)
gEetval OAleoBon dig meQl TOV AVTMOV ROS TOV AVTOV, XAl VUMY OUOUOROTWOV YoTobal

TOlG VOUOLG.

Andocides 4.7ff (adapted)

€motdrng, ov, m. - overseer, administrator
dnuevo - to confiscate, declare public property

atelng, £¢ +inf. - unable to



G ree k Prose Oxford college of preference

Answer sheet
UCAS Personal ID Surname & first name(s) Date of birth

Please continue on the reverse of this page if necessary.

15



End of Greek Unseen Translation paper
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Oxford college of preference

Classics Language Aptitude Test (CLAT)

Time allowed: 1 hour

Try to answer all the questions in all three sections; but do not spend too | First language (mother tongue)
much time on any question with which you may have difficulties. Write your
answers in the spaces provided on the paper. (You may, if you wish, also
write vour rough work on the paper.) Please take care to write very clearly.

UCAS Personal ID Surname & first name(s) Date of birth

SECTION A [25 MARKS]

(1) Consider the following singular forms of Vedic Sanskrit, an Indo-Aryan language once
spoken on the Indian subcontinent (§ represents a sound like English shake;  denotes that a
vowel is long, " that a vowel is stressed; n occurs instead of n in specific environments):

Meaning ‘virtue’ ‘god’ ‘army’ ‘father’ ‘enemy’ ‘cow’
Nominative dharmas devas séna pita satrus dhenus
Accusative dharmam devam sénam pitaram satrum dhentim
Instrumental dharmena  devéna sénaya pitra satruna dhenva
Dative dharmaya  devaya sénayai pitré satrave dhenvai
Ablative dharmat devat sénayas pitar satros dhenvas
Genitive dharmasya devasya sénayas pitar satros dhenvas
Locative dharme devé séne pitari satrau dhenvam

Based on the forms given below, complete the rest of the declension as necessary. They
follow the same patterns as above. (1 mark each)

Singular ‘love’ ‘mother’ ‘river’ ‘friend’
Nominative mitras
Instrumental matra

Dative kamaya

Locative sindhau




(2) Azeri is a modern Turkic language spoken in Azerbaijan. Consider the formation of plurals
and the 3.Sg.Possessive (¢ represents a sound like English cheese, s sounds like sheep, 3 is
similar to fat, 1 comes close to butter):

Plural 3.Sg.Possessive
bicaq knife bigaqglar ‘knives’ bicagr ‘his/her knife’
stol table stollar stolu
masalo problem masalalar masalasi
cubugq stick cubuglar cubugu
qiz daughter qizlar qizt
Kkiirsii chair kiirstilor kiirstisii
albah cherry albalilar albalis1
iirok heart iraklor iirayi
movqe position movgelor movqesi
miidllim teacher miiollimlor miiollimi
ana mother analar anast
su water sular susu
goz eye gozlor g0zl

Based on the forms above, form the plural and 3.Sg.Possessive of the nouns below. They
follow the same pattern as above. (1 mark each)

Plural 3.Sg.Possessive

canta bag

al hand

tosdiq approval

etiket etiquette N/A

dos breast

avto car

siimiik bone




SECTION B [50 MARKS]

3)

The following questions are based on an invented language called Plonk. Plonk differs from
English in not having definite or indefinite articles (the and a), and in not differentiating
simple and progressive tenses (is going = goes, was leaving = left); it does, however, have
fixed word order. Try to work out the meaning of the sentences, individual words, and their
components by reading them carefully and considering the differences between similar
forms. The exercises are built up gradually, so it is best to do them in order.

(a)sepab cuvuhe The girl is talking.

qaknilt postola  The postman is waiting.
sedalq dreqele  The actress is leaving.
qapab nabaza The rooster is talking.
igrak plazayi The door creaks.
sekniltit nabazaze The hens are waiting.
iterbeb namakaki  The letters are burning.
sebnurt postole The postwoman comes.
qatlab dreqela  The actor is crying.

qaplintit cuvuhuha The boys are shivering.

Give the meaning of:
qadalq cuvuha [3]

sepabab postolole [4]

Translate into Plonk:

The roosters are coming. [4]
The door is burning. [3]
(b)gatlabab guntulula The waiters are crying.
sebeknilt dreqele The actress was waiting.
postolaq igataq namaki The postman sees the letter.

cuvuhes ibendes gadapi The girl is reading the book.
nabazazes qaknides cuvuha The hens are watching the boy.
cuvuhuhes qabelubes postola  The girls heard the postman.
postoles selububes guntulule The postwoman hears the waitresses.
cuvuhaq ibeguntutaq gadapapi The boy wrote the books.

Give the meaning of:
guntules qabeqatates cuvuhuha

[5]

dreqelelaq ilubaq plazayi

[4]




Translate into Plonk:
The boy watched the hens.

[5]

The waitresses saw the letters.

[4]

(c)cuvuhaq iknidaq terbynamaki The boy watches the burning letter.

dreqeles ibeblutes grakyplazayi The actress opened the creaking door.

plintycuvuhuhes ibebendedes gadapapi The shivering girls were reading the
books.

kniltynabazazaq qabeqatataq tlabyguntulula The waiting roosters saw the crying
waiters.

postolaq ipurlaq cuvuhaz guntazynamaki The postman likes the letter that the boy
writes.

cuvuhuhes qalububes dreqelelez knidezynabazaza
The girls hear the roosters that the actress watches.

dalqyguntulaq sebeqataq vobokaz qredazycuvuhe
The leaving waiter saw the girl that the bull is licking.

vobokez purlezypostololes ibebendes cuvuhuhaz guntazygadapi
The postwomen that the cow likes was reading the
book the boys wrote.

Give the meaning of:
bnurtyvobokokes sebeqredes pabyguntule

[4]

kniltydreqelelaq iqataq cuvuhuhez guntezynamaki

[5]

Translate into Plonk:
The hens that the boys see liked the burning door.

[4]

The postman wrote the letter the shivering actresses are opening.

[5]




SECTION C [25 MARKS]

(4) In the usage of the nineteenth and early twentieth century, the phrases due to and owing to
were used in different environments in English, as these examples illustrate:

He was late owing to an accident.
His lateness was due to an accident.

Here, owing to is used as a preposition and could be paraphrased as ‘because of”, whilst due
to is used as an adjective meaning as much as ‘attributable to’. Where an adjectival reading
is possible, it is generally preferred.

Which of the examples below exhibit the correct usage of owing to and due to according to
the pattern above? (1 mark each)

vor X

(a) Owing to an accident just under an hour ago, the concert had to be cancelled. ]

(b) Paget cites an instance of blue saliva owing to staining the tongue with an aniline 0
pencil.

(c) A sharp slowdown in growth could undermine the banking system stability owing to 0
the poor quality of the loan portfolios.

(d) The Montenegrin frontier remained in dispute for some time due to the lawless 0
independence of local tribes.

(e) The souring of wine, due to the beginning of the acetic fermentation, is one of the 0
commonest of the so-called ‘diseases of wine’.

(f) Teignmouth made the short trip to Torquay with a slightly unbalanced squad owing to 0
a shortage of backs.

(g) There were more than 1,000 deaths of this class, with only one death specifically 0
stated as owing to homicide.

(h) Two more parliaments were only of two years duration each, owing to changes in the 0
Administration.

(i) The decrease in the price of horses was certainly not owing to the number of horses 0

thrown on the market.

(j) The generalization that all infectious diseases are owing to the introduction into the
bodies of susceptible individuals of living germs capable of reproduction is based ]
upon exact knowledge.

(k) It has been frequently observed that there are more miscarriages of justice due to the

actions of judges than can ever be attributed to the action of juries. u
(1) Doctors are required to offer free treatment that they consider to be immediately ]
necessary due to an emergency.
(m) Modifications of structure may be wholly due to the laws of variation and correlation, 0

without being of the slightest service to the species.



(%) The English auxiliary verb would has a variety of different functions, three of which are illustrated

below:

1. Every morning, Peter would get up and brush his teeth.
2. Rachel would go hiking if the weather weren’t appalling.
3. He said that Ali would come later than anticipated.

In these examples, would is used to indicate (1) a habitual, repeated action; (2) a hypothetical action
in a counterfactual scenario; and (3) a future action in the past, i.e. an action that happened before the

present but after its original point of reference.

Given this information, evaluate the following uses of would as to whether they are habitual,

hypothetical, or future-in-the-past. (1 mark each)

(a) Had history turned out differently, we would all speak French
now.

(b) The hermit would normally read until he fell asleep.
(c) If wishes were horses, smiths would be much sought after.
(d) No-one had anticipated that the water would rise so quickly.

(e) According to his report, the Persian fleet would attack in the
morning.

(f) Whenever the sun came out, they would feed the ducks from the
porch.

(g) Were I in your place, I would start revising right now.
(h) On any other day, he would greet his colleagues cheerfully.

(1) Only later did he realize that crossing the Alps with elephants
would be challenging.

(j) When I was a on my gap-year [ would sometimes feel rather
lonely.

(k) It seemed that only a miracle would save them now.

(1) Squirrels would frolic all year long but for the harshness of
winter.

End of CLAT paper
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